EARAROBEEIERT — 2 N— IBISH —F

2019511820 (+) 10mEERE4H

Kl C 2 +PUfl 5 R—i

‘ [R1%] & ‘ [RERBE] — | & (£) 12000 B

[A&E£] 1 7% :200,000  ~ 23&:52,000 ™ ~ 33#&:28,000M . 43:20,000H ~ 53 :10,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN Ra BR AR 4. - . - 12 ARBER (AKGR)

1B s TYy—Esy— 4 3 o 1(1_4)3 1-1 37.1 1 (3_947) SN

R/ RS vy 7 BR-—MRIIL—> FE R
s jt 3 | EREE 1:15.1 4-4 37.5| — 3 420 | =EHEE (KR)

2077 | F—THLX+b 54.0 (5) o) | W FTIZ
L:RY—LYv—=— Bixvyda A I—Fy R (B) #HAEIA-FKL—va>@AE77
= TN it 3 | BARA 1:15.3 3-3 37.7| — 6 403 | EBEEE] (KiR)

3PN 4| TatEXS A51.0 (1 1/4) o) | TL=—¥>7 @)

R bE—XT—F— BATZLTIZb =3
- o ft 3 | BERMAE 1:15.6 2-2 8.2 — 4 404 | FREEFD (GR)

4|88 | VY=>AEF— 54.0 (1 1/2) (e |EEAET

R:TS2ATL 48— B:AYIZLRTFY b BEH XX
# o3 | BEK 1:15.7 55 |37.6| — | 2 | 456 |A&NIR OKR)

5|55 LF7I 56.0 (1/2) (1) |BlI=E

X947 MHL N BRFIVZIIF BRE Ih#t
o8 4 3 | BIAKIE 1:18.4 7-7 38.6| — 5 475 | =EHEE (KR)

61111 T =527 4 *52.0 (214) -7 (%) 77T 7

L:iANTI—HI B:IELT—F politie
N s . _ — s (BXRE)

2 ol ETPRT T it 4 o 1(.11/82.>5 6-6 38.8 7 (4_292) i
R:Tv 2 TIRry b BUXLFTHLA HET77—L4
e = — 3 | AKHIBE — - — — — — | ZHEE (KR)

£ 3|Yz7—=% # 56.0 (BH) (—) |FRERE ’

R:TSv 84K B:7>TLi— J =¥ Ty — I

® I —F—@EBIERL

13—7—

23— —

BEE 6,8,4,7,5,2,1

43—+ — 6,8,4,7,5,2,1

[ RN

B OB 6 1204 714K 6-7 150H B E 6-7 340M &R 4-6-7 1,390H

8 B 6 100M 4-6 270M B H 6-7 360 K31 6-7-4 2,470

7 150/ 4-7 800F

ABICOVWTRDTEEERROODE. TR LIV,




